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Quiz #1 Overall

2

Average: 67%
Max: 98.6%



Short Answers: Common Mistakes

• Question 1-2: (Average 89%, 96%)
• Question 3: (Average 40%)
– Misunderstanding of concept 
• What is decision tree or leaf node
• Leaf node not being homogenous

• Question 4: (Average 46%)
– Not clear the difference between the two 

methods
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Long Answers: Common Mistakes

• Recommendation system: (Average 59%)
– Sum of weights need to be 1.0

• Decision tree: (Average 68%)
– Not a binary tree
– Leaf nodes not homogenous

• Clustering: (Average 69%)
– Mostly did well, but a few did not understand the 

question at all
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